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3. Man hat T0(t, x, z) = (t, x, z) und

Tδ(Tε(t, x, z)) = Tδ(t, x+ 2εt, e−εx−ε
2tz) = (t, x+ 2εt+ 2δt, e−δ(x+2εt)−δ2te−εx−ε

2tz)

= (t, x+ 2(ε+ δ)t, e−(ε+δ)x−(ε+δ)2tz) = Tε+δ(t, x, z).

Ferner ist A = (
d

d ε
Tε)|ε=0 = (0, 2t,−xz).

4. Setze t̃ = t, x̃ = x+ 2εt bzw. x = x̃− 2εt̃, dann ist die Funktion ũε gegeben durch

ũ(t̃, x̃) = e−ε(x̃−2εt̃)−ε2 t̃u(t̃, x̃− 2εt̃) = e−εx̃+ε2 t̃u(t̃, x̃− 2εt̃)

und

ũt̃ = e−εx̃+ε2 t̃(ε2u(t̃, x̃− 2εt̃) + ut(t̃, x̃− 2εt̃)− 2εux(t̃, x̃− 2εt̃))

= e−εx̃+ε2 t̃(ε2u(t̃, x̃− 2εt̃) + uxx(t̃, x̃− 2εt̃)− 2εux(t̃, x̃− 2εt̃)) = ũx̃x̃(t̃, x̃).
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